A F—1Z % [ 1 [ 2 3 [ 4 [BR[ = [IBM
1 [3xvH2 TR © 1/3
2 |yt he | O 0/3
3 |~avsa= gl O |0/3
4 |E==Es =35 ©) 1/3
B F—1Z % [ 1 [ 2 [ 3 [BR] = [IBU
1 |[SBILEYRTIL ERE 1 0/2
2 Rz~ g | © 1/2
3 |DFFa—LrEP | RE /
C F—L& % ] 1 [ 2 [ 3 [BR] = [IBU
1 |FAHET Y- =N ©) 1/2
2 |AWEIR ke | O 0/2
3 |[#vaovT =E /
D F—1hE % [ 1 ]| 2 3] 4 [#=x] = [IBL
1 (=L ICIERSE FOFRW ) 1/3
2 |SHBEASE =R | 1 0/3
3 |P*AL BE O |0/3
4 |PRYFTYOR g3l ©) 1/3
| —TEDORSIEE

3F—LDIES 1—2 2-3 1-3

4F— L\DES 1—2 3—4 1—-3

2—4 2-3 1—4

A1fiI

B11iz

C1fiz

D11z




